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Numbers
Word problems

1. A country’s population is 123,45,67,000. Round this number to the nearest
crore.

2. A company earned 7,56,30,000 in revenue this year. How much more did it
earn compared to last year’s revenue of 6,89,45,000?

3. A city’s budget for the year is 9,35,67,000. If it spends 4,45,67,000 on
infrastructure, how much is left in the budget?

4. A factory produced 3,75,65,000 toys in one year. If it produced 25,00,000
more toys than last year, how many toys did it produce last year?

5. A school received a grant of 4,50,00,000. If it spent 1,25,00,000 on new
buildings, how much money does it have left?

6. The population of a village is 12,50,00,000. If 2,50,00,000 people move to a
nearby city, what will be the new population of the village?

7. A farmer sells crops worth 6,30,00,000 in a year. How much would he earn if
he sells crops worth 5 times this amount?

8. A government project has a budget of 8,92,45,000. If the project uses
3,00,00,000 for construction, how much money remains for other purposes?

9. A country has a debt of 10,80,00,000. If it repays 2,50,00,000, how much
debt remains?

10. A sports stadium holds 5,60,00,000 spectators. If 1,20,00,000 spectators
attended a match, how many more people can attend?


